[ Efficiency vs vertpos |
- 0.2

CTIRT: SR S— T —

2 E : : :
>0'16:_"""""§ """""" Qi cr

[5) I : : :
BO.L4F oo SRREEE e
o | : :

/K . —EEERE SRS RO TR

o
0.08F -+ P Beeeeeeees e

0.06F - ............
0.04F fi- }+++ .........

0.02 B Pt
9 J-G- 1 I! 1 q,-l.lllll
& 1.05 o B TR

! T

1072 10 1 10 0?
TP vertr (cr%)

—=— DQM_mkFit_QCDHighPt_base
—— DQM_mkFit_QCDHighPt_retrain

..........................................

0.0aft {1 i
AR AW

0.02F ittt

L_bo:....l....i....i....i....l....

8 I
ol i i 3
(04 i i ]

=30 -20 -10 O 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.05
>
00.045
IS
7 0.04
9.035
2y
c0.03
[}
8.025
(0]
0.02
0.015
0.01

0008+l oo

Ratio

B5i5=10 5 0 5 10 15 20
Sim. PV z (cm)



	Contents
	Page 1


